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Aggregate Demand refers to total value of all final goods and services that are 
planned to buy by all the sectors of the economy at a given level of income during a 
period of time. AD represents the total expenditure on goods and services in an 
economy during a period of time. 
 
Components of Aggregate demand are: 
(i) Household consumption expenditure (C). 
(ii) Investment expenditure (I). 
(iii) Govt. consumption expenditure (G). 
(iv) Net export (X – M). 
Thus, AD = C + I + G + (X – M) 
In two sector economy AD = C + I 
 
Aggregate Supply is the money value of all final goods and services available for 
purchase by an economy during a given period. It is the flow of goods and services in 
the economy. Since, money value of final goods and services is equal to net value 
added, AS is nothing but the national income.  
AS = C + S 
Aggregate supply represents the national income of the country. 
AS = Y (National Income) 
 
Consumption function shows functional relationship between consumption and 
Income. 
C = f(Y) 
where C = Consumption 
Y = Income 
f= Functional relationship. 
Equation of Consumption Function 

C = + MPC * Y 
C = Consumption 

= Autonomous consumption. 
MPC(b)= Marginal Propensity to consume 



 does not changed/affected by change in income. It is minimum level of consumption 
, even when income is zero. Consumption expenditure at zero level of income is called 
autonomous consumption. It is income inelastic. 
Induced consumption is the expenditure which is affected by change in income. It is 
indicated by MPC × Y. Induced consumption is the portion of consumption that 
varies with disposable income. 
 
Propensity to consume:- It is a schedule that shows consumption expenditure at 
different levels of income in an economy. 
 
Consumption function (propensity to consume) is of two types: 
(a) Average propensity to consume (APC) 
(b) Marginal propensity to consume (MPC) 
Average propensity to Consume (APC): It refers to the ratio between total 
consumption(C) and total income(Y) at given level of income in the economy. 

 
Important Points about APC 
(i) APC is more than 1: as long as consumption is more than national income before 
the break-even point, APC > 1. 
(ii) APC = 1, at the break-even point, consumption is equal to national income. 
(iii) APC is less than 1: beyond the break-even point. Consumption is less than 
national income. 
(iv) APC falls with increase in income. 
(v) APC can never be zero: because even at zero level of national income, there is 
autonomous consumption. 
 
Marginal Propensity to Consume (MPC): Marginal propensity to consume refers to 
the ratio of change in consumption expenditure to change in income. 

 
Important Points about MPC 
(1) Value of MPC varies between O and 1: If the entire additional income is 
consumed, then ΔC = ΔY, making MPC = 1. However, if entire additional income is 
saved, than ΔC = 0, making MPC = 0 
 
(2) MPC is the slope of consumption curve and remain constant throughout in the short 
run. 
 
(3) Value of APC > MPC 
Saving function refers to the functional relationship between saving and national 
income. 
S = f (y) 



Equation of Saving function 

S = +MPS.Y 
where S = saving 
Y = National Income 
f = Functional relationship. 
 
Saving function (Propensity to Save) is of two types. 
(i) Average Propensity to Save (APS) 
(ii) Marginal propensity to Save (MPS) 
 
Average Propensity to Save (APS): Average propensity to save refers to the ratio of 
savings to the corresponding level of income 

 
 
Important Point about APS 
(1) APS can never be 1 or more than 1 :As saving can never be equal to or more 
than income. 
 
(2) APS can be zero: At break even point C = Y, hence S = 0 
 
(3) APS can be negative: At income levels which are lower than the break-even point, 
APS can be negative when consumption exceeds income. 
 
(4) APS rises with increase in income. 
Marginal Propensity to Save (MPS): Marginal propensity to save refers to the ratio of 
change in savings to change in total income. 

 
 
MPS varies between 0 and 1 
(i) MPS = 1 if the entire additional income is saved. In such a case, ΔS = ΔY, then 
MPS = 1 
(ii) MPS = 0 If the entire additional income is consumed. In such a case, ΔS = 0, then 
MPS = 0 
(iii) Mps is the slope of saving curve. 
(iv) MPS remains constant throughout in short run. 
 
Relationship between APC and APS 
The sum of APC and APS is equal to one. It can be proved as under we know: 
APC + APS = 1 
Y = C + S 
Dividing both sides by Y, we get 



 
APC + APS = 1 
because income is either used for consumption or for saving. 
 
Relationship between MPC and MPS 
The sum of MPC and MPS is equal to one. It can be proved as under: 
MPC + MPS = 1 
We know 
ΔY = ΔC + ΔS 
Dividing both sides by ΔY, we get 

 

 
MPC + MPS = 1 because total increment in income is either used for consumption or 
for saving. 
 
Investment refers to the expenditure incurred on creation of new capital assets. 
The investment expenditure is classified under two heads: 
(i) Induced investment 
(ii) Autonomous investment. 
 
Induced Investment: Induced investment refers to the investment which depends on 
the profit expectations and is directly influenced by income level (only for reference). 
 
Autonomous Investment: Autonomous investment refers to the investment which is 
not affected by changes in the Level of income and is not induced solely by profit 
motive. It is income inelastic. 
 
Ex-Ante Savings: Ex-ante saving refers to amount of savings which all the household 
intended to save at different levels of income in the economy at the beginning of 
period. It is also known as planned savings. 
 
Ex-Ante Investment: Ex-ante investments refers to amount of investment which all the 
firms plan to invest at different level of income in the economy at the beginning of the 
period. It is also known as planned investment. 
 



Ex-Post Saving: Ex-post savings refer to the actual or realised savings in an economy 
during a financial year at end of the period. 
 
Ex-Post Investment: Ex-post investment refers to the actual or realised investment in 
an economy during a financial year at the end of the period. 
 
Equilibrium level of income is determined only at the point where AD = AS or S = 
I, .i.e. the flow of goods and services in the economy is equal to the demand for goods 
and services But it cannot always be at full employment level also as it can be at less 
than full employment. 
 
Full employment is a situation when all those who are able and willing to work at 
prevailing wage rate, get the opportunity to work. 
 
Voluntary unemployment is a situation where person is able to work but not willing to 
work at prevailing wage rate. 
 
Involuntary unemployment is a situation where worker is able and willing to work at 
prevailing wage rate but does not get work. 
 
Under employment is a situation where all those who are able to work at existing 
wage rates, are not getting jobs. It refers to that situation in the economy where AS = 
AD or S = I, but without fuller utilisation of labour force. 
 
Investment multiplier (K) is the ratio of change in income (ΔY) due to change in 
investment ΔI. 

 
Value of investment multiplier lies b/w 1 to infinitive. 
 
Excess demand refers to a situation when aggregate demand exceeds aggregate 
supply corresponding to full employment. 
 
Inflationary gap is the gap by which actual aggregate demand exceeds the level of 
aggregate demand required to establish full employment. 
It measures the extent of excess demand. 
 
Deficient Demand: When AD falls short of AS at full employment it is called deficient 
demand. In other words, AD < AS at the level of full employment. It is called deficient 
demand. 
 
Deflationary gap is the gap by which actual aggregate demand is less than the level 
of aggregate demand required to establish full employment. 
It measures the extent of deficient demand. 



Methods to control excess demand or deficient demand: 
1. Fiscal Measures or Fiscal Policy 
a. Change in Tax 
b. Change in Public expenditure 
c. Change in Public borrowing 
d. Deficit financing (Printing new notes) 
2. Monetary Measures or Monetary Policy 
a. Quantitative measures 
i. Bank rate 
ii. Cash Reserve Ratio 
iii. Statutory Liquidity Ratio 
iv. Open Market operation 
b. Qualitative/Selective measures 
i. Marginal requirement 
ii. Rationing of credit 
iii. Direct Action 
iv. Moral Suasion       

 

सकल म ांग से त त्पर्य उन सभी अांततम वस्तुओां और सेव ओां के कुल मूल्र् स ेहै, जिन्हें एक तनजचित 

अवधि के दौर न आर् के एक तनजचित स्तर पर अर्यव्र्वस्र्  के सभी के्षत्रों द्व र  खरीदने की र्ोिन  है।  

AD एक समर् वधि के दौर न ककसी अर्यव्र्वस्र्  में वस्तुओां और सेव ओां पर कुल व्र्र् क  प्रतततनधित्व 

करत  है। 

 

 सकल म ांग के घटक हैं: 
 

 (i) घरेलू उपभोग व्र्र् (सी)। 

 

 (ii) तनवेश व्र्र् (आई)। 

 

 (iii) सरक र।  उपभोग व्र्र् (िी)। 

 

 (iv) शुद्ि तनर् यत (एक्स - एम)। 

 

 इस प्रक र, एडी = सी + आई + िी + (एक्स - एम) 

 

 दो के्षत्रक अर्यव्र्वस्र्  में AD = C + I 

 



 सकल आपूततय एक तनजचित अवधि के दौर न अर्यव्र्वस्र्  द्व र  खरीद के ललए उपलब्ि सभी अांततम 

वस्तुओां और सेव ओां क  िन मूल्र् है।  र्ह अर्यव्र्वस्र्  में वस्तुओां और सवे ओां क  प्रव ह है।  िूांकक, 

अांततम वस्तुओां और सेव ओां क  िन मूल्र् वधियत शुद्ि मूल्र् के बर बर है, एएस र ष्ट्रीर् आर् के अल व  
और कुछ नहीां है। 

 

 एएस = सी + एस 

 

 सकल आपूततय देश की र ष्ट्रीर् आर् क  प्रतततनधित्व करती है। 

 

 एएस = व ई (र ष्ट्रीर् आर्) 

 

 खपत फलन खपत और आर् के बीि क र् यत्मक सांबांि को दश यत  है। 

 

 सी = एफ (व ई) 

 

 िह ां सी = खपत 

 

 व ई = आर् 

 

 एफ = क र् यत्मक सांबांि। 

 

 खपत सम रोह क  समीकरण 

 

 सी = एमपीसी * व ई 

 

 सी = खपत 

 

 = स्व र्त्त खपत। 

 

 एमपीसी (बी) = उपभोग करन ेके ललए सीम ांत प्रवतृ्तत्त 

 



 ￼ आर् में पररवतयन से पररवततयत/प्रभ त्तवत नहीां होत  है।  आर् शून्र् होने पर भी र्ह उपभोग क  
न्र्ूनतम स्तर है।  आर् के शून्र् स्तर पर उपभोग व्र्र् को स्व र्त्त उपभोग कह  ि त  है।  र्ह आर् 

लोिद र है। 

 

 प्रेररत उपभोग वह व्र्र् है िो आर् में पररवतयन स ेप्रभ त्तवत होत  है।  र्ह एमपीसी × व ई द्व र  इांधगत 

ककर्  गर्  है। प्रेररत खपत खपत क  वह हहस्स  है िो डडस्पोिेबल आर् के स र् बदलत  रहत  है। 

 

 उपभोग की प्रवतृ्तत्त:- र्ह एक अनुसूिी है िो एक अर्यव्र्वस्र्  में आर् के त्तवलभन्न स्तरों पर उपभोग व्र्र् 

को दश यती है। 

 

 उपभोग फलन (उपभोग की प्रवतृ्तत्त) दो प्रक र क  होत  है: 

 

 (ए) उपभोग करन ेकी औसत प्रवतृ्तत्त (एपीसी) 
 

 (बी) उपभोग करने के ललए सीम ांत प्रवतृ्तत्त (एमपीसी) 
 

 औसत उपभोग प्रवतृ्तत्त (APC): र्ह अर्यव्र्वस्र्  में आर् के हदए गए स्तर पर कुल खपत (C) और कुल आर् 

(Y) के बीि के अनपु त को सांदलभयत करत  है। 

 

 ￼ 
 

 एपीसी के ब रे में महत्वपूणय बब ांद ु

 

 (i) एपीसी 1 से अधिक है, िब तक कक ब्रेक-ईवन पॉइांट स ेपहले खपत र ष्ट्रीर् आर् स ेअधिक है, एपीसी> 

1. 

 

 (ii) एपीसी = 1, ब्रेक-ईवन बब ांद ुपर, खपत र ष्ट्रीर् आर् के बर बर है। 

 

 (iii) एपीसी 1 स ेकम है, ब्रके-ईवन बब ांद ुसे परे।  खपत र ष्ट्रीर् आर् स ेकम है। 

 

 (iv) एपीसी आर् में वदृ्धि के स र् धगरती है। 

 



 (v) एपीसी कभी भी शून्र् नहीां हो सकत : क्र्ोंकक र ष्ट्रीर् आर् के शून्र् स्तर पर भी, स्व र्त्त खपत होती 
है। 

 

 सीम ांत उपभोग प्रवतृ्तत्त (एमपीसी): उपभोग करने के ललए सीम ांत प्रवतृ्तत्त आर् में पररवतयन के ललए उपभोग 

व्र्र् में पररवतयन के अनुप त को सांदलभयत करती है। 

 

 ￼ 

 

 एमपीसी के ब रे में महत्वपूणय बब ांद ु

 

 (१) एमपीसी क  मूल्र् ओ और १ के बीि लभन्न होत  है: र्हद पूरी अततररक्त आर् क  उपभोग ककर्  ि त  
है, तो ΔC = ΔY, जिससे एमपीसी = १ बनत  है। ह ल ांकक, अगर पूरी अततररक्त आर् बि ई ि ती है, तो ΔC 

= ० से, एमपीसी = ० 

 

 (२) एमपीसी खपत वक्र क  ढल न है और अल्प वधि में जस्र्र रहत  है। 

 

 (३) एपीसी क  मूल्र्> एमपीसी 
 

 बित सम रोह बित और र ष्ट्रीर् आर् के बीि क र् यत्मक सांबांि को दश यत  है। 

 

 एस = एफ (व ई) 

 

 बित सम रोह क  समीकरण 

 

 एस = ￼+MPS.Y 

 

 िह ां एस = बित 

 

 व ई = र ष्ट्रीर् आर् 

 

 एफ = क र् यत्मक सांबांि। 

 



 सेत्तव ांग फां क्शन (बि ने की प्रवतृ्तत्त) दो प्रक र क  होत  है। 

 

 (i) औसत बित प्रवतृ्तत्त (APS) 

 

 (ii) बित करने की सीम ांत प्रवतृ्तत्त (एमपीएस) 

 

 औसत बित प्रवतृ्तत्त (APS): बित करने की औसत प्रवतृ्तत्त, बित के अनुप त को आर् के सांबांधित स्तर से 
सांदलभयत करती है 

 

 ￼ 
 

 एपीएस के ब रे में महत्वपूणय बब ांद ु

 

 (१) एपीएस कभी भी १ र्  १ से अधिक नहीां हो सकत : िूांकक बित कभी भी आर् के बर बर र्  उससे 
अधिक नहीां हो सकती है। 

 

 (2) APS शून्र् हो सकत  है: त्तवर म बब ांद ुC = Y पर, इसललए S = 0 

 

 (३) एपीएस नक र त्मक हो सकत  है: आर् स्तर पर िो ब्रेक-ईवन बब ांद ुस ेकम है, एपीएस नक र त्मक हो 
सकत  है िब खपत आर् से अधिक हो। 

 

 (4) एपीएस आर् में वदृ्धि के स र् बढ़त  है। 

 

 बित करने के ललए सीम ांत प्रवतृ्तत्त (एमपीएस): बित के ललए सीम ांत प्रवतृ्तत्त कुल आर् में पररवतयन के ललए 

बित में पररवतयन के अनुप त को सांदलभयत करती है। 

 

 ￼ 

 

 एमपीएस 0 और 1 . के बीि लभन्न होत  है 

 

 (i) MPS = 1 र्हद पूरी अततररक्त आर् बि ि ती है।  ऐसी जस्र्तत में, ΔS = Y, तो MPS = 1 

 



 (ii) MPS = ० र्हद सांपूणय अततररक्त आर् क  उपभोग ककर्  ि त  है।  ऐसी जस्र्तत में, S = 0, तो MPS = 0 

 

 (iii) Mps बित वक्र क  ढ ल है। 

 

 (iv) MPS अल्पक ल में जस्र्र रहत  है। 

 

 एपीसी और एपीएस के बीि सांबांि 

 

 APC और APS क  र्ोग एक के बर बर होत  है।  इसे इस प्रक र लसद्ि ककर्  ि  सकत  है िैसे हम ि नते 

हैं: 
 

 एपीसी + एपीएस = 1 

 

 व ई = सी + एस 

 

 दोनों पक्षों को Y स ेत्तवभ जित करने पर, हम प्र प्त करते हैं 
 

 ￼ 

 

 एपीसी + एपीएस = 1 

 

 क्र्ोंकक आर् क  उपर्ोग र्  तो उपभोग के ललए र्  बित के ललए ककर्  ि त  है। 

 

 एमपीसी और एमपीएस के बीि सांबांि 

 

 MPC और MPS क  र्ोग एक के बर बर होत  है।  इसे तनम्न नुस र लसद्ि ककर्  ि  सकत  है: 

 

 एमपीसी + एमपीएस = 1 

 

 हम लोग ि न 

 

 Y = C + S 

 



 दोनों पक्षों को Y स ेत्तवभ जित करने पर, हम प्र प्त करते हैं 
 

 ￼ 

 

 ￼ 
 

 एमपीसी + एमपीएस = 1 क्र्ोंकक आर् में कुल वदृ्धि र्  तो खपत के ललए र्  बित के ललए उपर्ोग की 
ि ती है। 

 

 तनवेश से त त्पर्य नई पूांिीगत सांपत्तत्तर्ों के तनम यण पर ककए गए व्र्र् से है। 

 

 तनवेश व्र्र् को दो शीर्षों के अांतगयत वगीकृत ककर्  गर्  है: 

 

 (i) प्ररेरत तनवेश 

 

 (ii) स्व र्त्त तनवेश। 

 

 प्रेररत तनवेश: प्ररेरत तनवेश उस तनवेश को सांदलभयत करत  है िो ल भ की अपेक्ष ओां पर तनभयर करत  है और 

सीिे आर् स्तर (केवल सांदभय के ललए) स ेप्रभ त्तवत होत  है। 

 

 स्व र्त्त तनवेश: स्व र्त्त तनवेश उस तनवशे को सांदलभयत करत  है िो आर् के स्तर में पररवतयन स ेप्रभ त्तवत 

नहीां होत  है और केवल ल भ के उद्देचर् से प्ररेरत नहीां होत  है।  र्ह आर् लोिद र है। 

 

 पूवय-पवूय बित: पूवय-पवूय बित से त त्पर्य उस बित की र लश से है जिस ेसभी पररव र अवधि की शुरुआत में 
अर्यव्र्वस्र्  में आर् के त्तवलभन्न स्तरों पर बि ने क  इर द  रखते हैं।  इस ेतनर्ोजित बित के रूप में भी 
ि न  ि त  है। 

 

 पूवय-पवूय तनवेश: पवूय-पूवय तनवेश से त त्पर्य उस तनवेश की र लश से है जिसे सभी फमें अवधि की शुरुआत में 
अर्यव्र्वस्र्  में आर् के त्तवलभन्न स्तरों पर तनवशे करने की र्ोिन  बन ती हैं।  इस ेतनर्ोजित तनवशे के 

रूप में भी ि न  ि त  है। 

 



 पूवय-पचि बित: पूवोत्तर बित, अवधि के अांत में एक त्तवत्तीर् वर्षय के दौर न अर्यव्र्वस्र्  में व स्तत्तवक र्  
व स्तत्तवक बित को सांदलभयत करती है। 

 

 एक्स-पोस्ट तनवशे: एक्स-पोस्ट तनवेश अवधि के अांत में एक त्तवत्तीर् वर्षय के दौर न ककसी अर्यव्र्वस्र्  में 
व स्तत्तवक र्  व स्तत्तवक तनवेश को सांदलभयत करत  है। 

 

 आर् क  सांतुलन स्तर केवल उस बब ांद ुपर तनि यररत ककर्  ि त  है िह ां AD = AS र्  S = I, र् नी।  

अर्यव्र्वस्र्  में वस्तुओां और सेव ओां क  प्रव ह वस्तुओां और सेव ओां की म ांग के बर बर होत  है लकेकन र्ह 

हमेश  पूणय रोिग र स्तर पर भी नहीां हो सकत  क्र्ोंकक र्ह पूणय रोिग र से कम पर हो सकत  है। 

 

 पूणय रोिग र एक ऐसी जस्र्तत है िब वे सभी िो प्रिललत मिदरूी दर पर क म करने में सक्षम और इच्छुक 

हैं, उन्हें क म करने क  अवसर लमलत  है। 

 

 स्वैजच्छक बेरोिग री एक ऐसी जस्र्तत है िह ां व्र्जक्त क म करने में सक्षम है लकेकन प्रिललत मिदरूी दर 

पर क म करने को तैर् र नहीां है। 

 

 अनैजच्छक बेरोिग री एक ऐसी जस्र्तत है िह ां श्रलमक प्रिललत मिदरूी दर पर क म करने में सक्षम और 

इच्छुक होत  है लकेकन उस ेक म नहीां लमलत  है। 

 

 रोिग र के तहत एक ऐसी जस्र्तत है िह ां वे सभी िो मौिूद  मिदरूी दरों पर क म करने में सक्षम हैं, उन्हें 
नौकरी नहीां लमल रही है।  र्ह अर्यव्र्वस्र्  में उस जस्र्तत को सांदलभयत करत  है िह ां AS = AD र्  S = I, 

लेककन श्रम बल के पूणय उपर्ोग के बबन । 

 

 तनवेश गुणक (K) तनवेश changeI में पररवतयन के क रण आर् में पररवतयन (ΔY) क  अनुप त है। 

 

 ￼ 
 

 तनवेश गुणक क  म न infinitive स ेb/w 1 होत  है। 

 

 अततररक्त म ांग एक ऐसी जस्र्तत को सांदलभयत करती है िब कुल म ांग पूणय रोिग र के अनुरूप कुल आपूततय 
से अधिक हो ि ती है। 



 

 मुद्र स्फीतत की ख ई वह अांतर है जिसके द्व र  व स्तत्तवक कुल म ांग पूणय रोिग र स्र् त्तपत करने के ललए 

आवचर्क कुल म ांग के स्तर से अधिक हो ि ती है। 

 

 र्ह अततररक्त म ांग की सीम  को म पत  है। 

 

 डेकफलसएांट डडम ांड: िब एडी पणूय रोिग र पर एएस से कम हो ि त  है तो इस ेडडकफलसएांट डडम ांड कह  
ि त  है।  दसूरे शब्दों में, एडी <एएस पणूय रोिग र के स्तर पर।  इसे कमी की म ांग कह  ि त  है। 

 

 अपस्फीतत अांतर ल वह अांतर ल है जिसके द्व र  व स्तत्तवक सकल म ांग पूणय रोिग र स्र् त्तपत करने के 

ललए आवचर्क कुल म ांग के स्तर से कम है। 

 

 र्ह कमी की म ांग की सीम  को म पत  है। 

 

 अधिक म ांग र्  कम म ांग को तनर्ांबत्रत करने के तरीके: 

 

 1. र िकोर्षीर् उप र् र्  र िकोर्षीर् नीतत 

 

 ए।  कर में पररवतयन 

 

 बी  स वयितनक व्र्र् में पररवतयन 

 

 सी।  स वयितनक उि री में पररवतयन 

 

 डी  घ टे क  त्तवत्तपोर्षण (नए नोट छ पन ) 
 

 2. मौहद्रक उप र् र्  मौहद्रक नीतत 

 

 ए।  म त्र त्मक उप र् 

 

 मैं।  बैंक दर 

 



 ii.  नकद आरक्षक्षत अनपु त 

 

 iii.  वैि तनक तरलत  अनपु त 

 

 iv.  खुले ब ि र क  सांि लन 

 

 बी  गुण त्मक/िर्न त्मक उप र् 

 

 मैं।  सीम ांत आवचर्कत  
 

 ii.  के्रडडट क  र शन 

 

 iii.  प्रत्र्क्ष क रयव ई 

 

 iv.  नैततक उते्तिन  


